A club consists of four girls and six boys.

a. In how many ways can a committee of three people be chosen?

b. In how many ways can two boys and two girls be chosen to attend a
competition?

¢. In how many ways can three boys be chosen?

d. What is the probability that three boys will be chosen?

a) We can choose a committee of three people in C4 to6_ 10 _ 1w

3 I 3 =3 =
4 . 6 -
b) C2 for girls and C2 for boys, so we can choose 2 boys and 2 girls in C
90 ways.
6 _ 6 _
c) C3 =T 20
6
c
dp="=3 = 20 _1
n I 120 6
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4.6 4 6l

29 = 221 2

= 120 ways.
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